2

The lines £, and L, have equations given by

—7 2 7 10
L: r=|7 |+4] 0 |and L,: r=| p [+p|—4
1 —3 —6 -1

where 4 and g are parameters and p is a constant.
The two lines intersect at the pont O
(a) Find

(i) the value of p,

(1) the position vector of C.

=13

(b) Show that the point B with position vector| 11 | lieson L,.
4

i,
The point 4 with position vector | 7 | lieson L, .
1

(¢) Find cos(£ACB), giving your answer as an exact fraction.

The ling L, bisects the angle ACB.

(d) Find a vector equation of L,

(3)

(1)

(3)

(4)
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